WORASHEE T Jessons (&)

Qe @~ Exproas 2 S i /VM _.

4 753 - 9 ooss

b) 4‘000 = -F) ¢ O 75 =
Y oo = 3 . ococos =
VQ' §500 =

/@ 34 .65 =

Bt () - i o 5o 1
Ll @) ~ Lot o) A fillpiy 5 2 spnllcecd fyes,
YV swng 7o d) oosr75) =

Q) 567257 = <) o4 ///2 =

) I3 = ) 9765932 =

ﬂéz.&c}/»w///ﬂé ce,
(&) st.267 (b) 5369987

(J «00 744

@) Fid 357 of £360 ) Wéfﬁww#gx@%%#?a 36

C) IVL&HZOXL(L gf&ﬁ % 4'SZ @O jﬁ&\—@.@ég/ 350 mm % EOZ

) ; : . 2 N — A -
17//&> 7:53x0° b) #x10* &) 6ro* d) . Sxi02 @ 26 x> £ wels a0t AV Gx (0™

'Q‘) [«34CS R (O . @z@)ﬁ %3 Q) 5:67 < 2B 4O d) G 00428 & enay, %2)9990000
4) S¢e27 L) 50

D oot (Ba)ine ) 3, o pess ) 245 [AVJERS]




ScieNTiEIic NoTAaTion  (ometimes called STANDARD ,UOTA-noU)

Al nurmbers are axpressed (re-ww Hen) as Ha
product of a oecimal (betuween | and 10) and 4 ef/o

 For M@MQ«&L /
W

V50 m 2uns x 100 Phtio Ao s docimat poudk " &
0e035 =35 x 15 oy plecad WWW@ ar‘h’"

/%‘OOO@O» = 1.5 = |o° o firet ‘nen-zoro cloger .
00004 =do x 1077 @méﬁfa power~ @;ﬁm He -

er/” aces nsved e |

a&%mei Pt (+ J?w BIG, — gersmmL ‘

AU bers.
.:xercu,SQ
;/ geod = 6/’@.3‘# =
%/4%79 = 7 20056 =
3 500 = Y 0000 =
4/ 740 = "?/ o /RS =
5) 1259 = oy F =

@ ,32@%@‘&5 j - A \Q Qﬁ %Mtwq ﬁj@‘\uﬁfg

ay 3¢ ‘7:3 to Yo vearegt :a =
%;3} 5448 do He rasrest Wﬂﬁé‘:‘%sw{}&'{“ =
£ 2895 e He naorest 1600 =
dY T4 481 o ene decimad ploce =
@) -6‘ jo0%{ o two decimal pl places | =
£) 50 i76 mehes do He mﬁ%gg% erm . =
2 #0052 10% grons to e arest ka

%} «U«}- {3‘ 519 4o 3 Se m&&awff gx;% 5. =

"“g 5 L, f '}i} 2 $%q§i=u£@g o § ;{;ﬁ wes -

i
; i "
’ Sed




